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P4.PCR.BYTE |= 0x04; /*P4-2 */
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CPU
CPU

#include "h8-00.h"

main()

{

int c=0;
scil_init();
do {
c=scil_chkandget();
if (c==-1) scil_putbyte('@";
else if (c==-2) scil_putbyte("*");
else scil_putbyte(c);
} while(c==-1] | c==-2);
scil_rtlf();
scil_putString(“scil_putByte(0x12)¥n");
scil_putByte(0x12);
scil_rtlf();
scil_putString("scil_putWord(0x1234)¥n");
scil putWord(0x1234);
scil_rtlf();
scil_putString('scil_putlnt(-0x2345)¥n");
scil_putlnt(-0x2345);
scil_rtlf();
scil_putString(“scil_putDec(9876)¥n");
scil_putDec(9876);
scil_rtlf();
scil_putString(“scil_putDeclnt(19876)¥n");
scil_putDeclInt(19876);
scil_rtlf();
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scil_putString('scil_putDeclnt(-19876)¥n");
scil_putDeclInt(-19876);
scil_rtlf();
while(1) {
c=scil_getbyte();
scil_putbyte(++c);

#include "h8-00.h"

main()

{

int x;

scil_init();

while(1) {
x=getint("x=");
scil putint(x);
scil putbyte('");
scil _putDeclnt(x);
scil_rtlf();

SW
SW

SW
SW
SW

LED
SW

#include "h8-00.h"

main()

{

ddr_init();
led_init();
pushsw_init();
eightbitsw_init();
if (geteightbitsw(0)) {

led_on(0);

led_on(1);

while();
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} else if (geteightbitsw(1)) {
led_off(0);
led_off(1);
while();
} else if (geteightbitsw(2)) {
while(1) {
if (getpushsw(0)) led_on(0);
else led_off(0);
if (getpushsw(1)) led_on(21);
else led_off(1);

}
} else if (geteightbitsw(3)) {
while(1) {
inti;
led_on(0);
led_off(1);
for(i=0;i<30000;i++)for(j=0;j<30;j++);
led_on(1);
led_off(0);
for(i=0;i<30000;i++)for(j=0;j<30;j++);
}
}else {
while();
}

LED ON-OFF
0.5 LED ON OFF

#include "h8-00.h"

extern void E_INT();

int a;
main()
{
ddr_init();
led_init();
timer_init(500);/*0.5sec interrapt*/
a=0;
E_INT();
timer_start();
while(2);
}
void interrupt_cfunc()
{
a=1-a;
if(a) {
led_on(0);
led_off(1);
}else {
led_on(1);
led_off(0);
}
}
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DAC

DA

#include "h8-00.h"

main()
{ -
int x;
scil_init();
da_init();
while(1) {
x=getint("DA value(0..255) =");
da(0,x&0xff);

/*

0 0.08Vv
64 1.27Vv
128 2.53V
192 3.78V

255 5.02V
*/

ADC
DA

#include "h8-00.h"

main()

{ -
int x;
unsigned inty;
scil_init();
da_init();
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while(1) {
x=getint("DA value(0..255) ="),

da(0,x&0xff);
y=ad(0);
scil_rtlf();
scil_putDeclInt((int)y);
scil_rtlf();
}
}
/-k
0 0.08Vv - 4
64 1.27Vv > 256
128 2.53v - 508
192 3.78V - 765
255 5.02V - 1017
*/
\Y
\Y
#include "h8-00.h"
#include "led12_p5b2.h"
main()
{ -
int x;
ddr_init();
led12_init();
while(1) {
inti,j;
led12_on();
for(i=0;i<30000;i++)for(j=0;j<30;j++);
led12_off();
for(i=0;i<30000;i++)for(j=0;j<30;j++);
}
}

\% ON OFF
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SW

SW
#include "h8-00.h"
#include "rsw_p4b2.h"
main()
{ -
int x;
ddr_init();
scil_init(); 1* */
rsw_init();
while(1) {
x=rsw();
scil _putDecInt(x);
scil_rtlf();
}
}
PWM
PWM
PWM
#include "h8-00.h"
#include "pwm3cntl.h"
main()
{ -
int x;
ddr_init();
scil_init(); I* */
initPWM3(4096); *PWM ITUchanel3 */
while(1) {
x=getint("PWM value(-4096..4096 otherwize break:on) =");
scil_putString("¥n");
scil_putDecInt(x);
scil_rtlf();
if (-4096<=x&&x<=4096) outPWM3(x);
else outPWM3_break(1);
}
}
10

#include "h8-00.h"

main()

{
17



int x;

ON

ON

scil_init(); I* */
h8counter_init(); /*H8 ITUchanel2
while(1) {
x=geth8counter(); /* */
scil _putDecInt(x); /* */
scil_rtlf(); 1* */
if (O<scil_chkandget()) h8counter_init();
/*
}
}
11 SW
PWM =2000
PWM
SW ON PWM
#include "h8-00.h"
#include "pwm3cntl.h"
#include "rsw_p4b2.h"
int average_rsw(void)
[*1: ON O: OFF -1: */
{
int stat,i;
stat=rsw();
for (i=0;i<100;i++) {
if (stat!=rsw()) return -1,
};eturn stat;
}
void go(int x)
{ - - .
inti,);
OUtPWM3(x);
while(average_rsw()!=0);
while(average_rsw()!=1);
while(average_rsw()!=0);
while(average_rsw()!=1);
while(average_rsw()!=0);
while(average_rsw()!=1);
OutPWM3_break(1);
for(i=0;i<30000;i++) for(j=0;j<30;j++);
}
main()
{
int x,s,a=0,i,j;
ddr_init();
scil_init(); 1* */
rsw_init();
initPWM3(4096); *PWM ITUchanel3 */

*/

*/

SW
=2000
=-2000

SW

SW



x=2000;

OUtPWM3(x);

s=rsw();

while(s!=1){
s=rsw();

}

outPWMa3_break(1);

for(i=0;i<30000;i++) for(j=0;j<50;j++);

while(1){
go(x);
go(-x);
}
}
12
PWM
/ 0

#include "h8-00.h"
#include "pwm3cntl.h"
#include "rsw_p4b2.h"

extern void E_INT();

volatile int x,moku,g;
volatile unsigned long int count,count0;

=4095

volatile int status; /* 0:stop,1:forward -1:reverse */
[* 2:stop & next status=1 */
[* -2:stop & next status=-1 */

main()

{
ddr_init();
scil_init(); /*
h8counter_init(); /*H8
initPWM3(4096); *PWM
timer_init(10);/*0.01sec interrapt*/

count=0;
g=0;
x=4095;
moku=1000;
status=1,;
E_INT();
timer_start();
while();

}

void interrupt_cfunc()

{

int ¢,x1=0;

*/
ITUchanel2
ITUchanel3 */
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c=geth8counter();

if(status==1){

if(c<moku/10*8){
X1=X;
outPWM3(x1);
}
else if(moku/10*8<=c&&c<moku-20){
x1=x/8;
ouUtPWM3(x1);
}
else{
status=-2;

outPWM3_break(1);
countO=count;
}
}
else if(status==-1){
if(moku/10*2<c){
X1=-X;
outPWM3(x1);
}
else if(0+20<c&&c<=moku/10*2){
x1=-x/8;
outPWM3(x1);
}
elsef
status=2;
oOutPWM3_break(1);
countO=count;

else {
if(count==count0+500) status=status/2;

}

scil_putDeclInt((int)count);

* */
scil_putbyte(' );

scil_putDecInt(c); /* */

scil putbyte('");

scil_putDeclInt(x1); # */
scil_rtlf(); I* */

count++;
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H8CPU 10 10
3048f.h 10
I0 P5
#define P5 (*(volatile struct st p5  *)OXFFFFC8) /* P5  Address*/
P5 OxFFFFC8 P5.DDR
10 10
h8-00.h 8
pwm3cntl.h ITU3 PWM
rsw_p4b2.h
led12_p5b2.h
h8-00.h

#include<3048f.h>

int PADDR,P2DDR,P3DDR,P4DDR,P5DDR,P6DDR,P7DDR,P8DDR,PO9DDR,PADDR,PBDDR;
unsigned char dummydummy;

extern void E_INT();

void ddr_init(void)

* */
{
P1DDR=P2DDR=P3DDR=P4DDR=P5DDR=P6DDR=P7DDR=PSDDR=PO9DDR=PADDR=PB
DDR=0;
}
I* */
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/* SCI1 INITIALIZATION fixed baud at 38400 */
I* */
void scil_init(){

inti;
unsigned char dummy;
SCI1.SCR.BYTE = 0; /* clear all flags */
/* 2400-38400baud are available at n=0(cks1=0,cks2=0) */
SCI1L.SMR.BYTE = 0; /* Ascnc, 8bit , NoParity, stopl, 1/1 */
/* SCIL.BRR = 15; 31250baud (CPU=16MHz) */
/* SCIL.BRR = 25; 19200baud (CPU=16MHz) */
/* SCI1L.BRR = 51; 9600baud (CPU=16MHz) */
SCI1.BRR = 12; /* 38400baud (CPU=16MHz) */
for(i=0;i<30000;i++); /* wait more than 1bit time */
SCI1.SCR.BYTE = 0x30; /* scr = 0011 0000 (TE=1,RE=1) */
/*dummy = SCI1.SSR.BYTE;*/ /* read dummy 2297*/
[*SCI1.SSR.BYTE = 0x80;*/ /* clear error flag (TDRE = 1) 2277*|
return;
}
I* */
/* GET BYTE FROM SCI1 */
I* */

int scil_getbyte()
I* return value 0x00-OxFF:received data */

* -2(0XFFFE):error */
{
int flags,recdata;
do {
flags = SCI1.SSR.BYTE;
if (flags&0x38) {/* error */
SCI1.SSR.BIT.RDRF = 0;
SCI1.SSR.BIT.ORER =0;
SCI1.SSR.BIT.FER =0;
SCI1.SSR.BIT.PER = 0;
return -2;
if (flags&0x40) {/* normally received one data */
SCI1.SSR.BIT.RDRF = 0;
recdata=SCI1.RDR,;
return recdata;
}
} while (1);
}
I* */
/* CHECK SCI BUFFER AND GET DATA */
I* */

int scil_chkandget()
/* return value -1(OxFFFF):no received data */

I* 0x00-0OxFF:received data */
I* -2(0XFFFE):error */
{

int flags,recdata;

flags = SCI1.SSR.BYTE;

SCI1.SSR.BIT.RDRF = 0;

if (flags&0x38) {/* error */
SCI1.SSR.BIT.ORER =0;
SCI1.SSR.BIT.FER = 0;
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SCI1.SSR.BIT.PER = 0;
return -2;

}

if (flags&0x40) {/* normally received one data */
recdata=SCI1.RDR;
return recdata;

}else {
return -1;
}
}
I* */
[* GET INTEGER FROM SCI1 */
I* */
int getint(char prompt[])
[*getting integer from serial port*/
/* format 123[ret] */
I* -123[ret] */
I* Oxla[ret] */
I* -0x100[ret] */
{
int x=0,y,m=0,n=0,v=0;
scil_putString(prompt);
y=scil_getbyte();
while(y!="¥r"){
if(y=="-"y m=1;
if(a'<=y&&y<='7") y=y-'a'+'A’,
if(y=="0") n=1;
if(v==1){
if(0'<=y&&y<="9"}
y=y-'0%
}
else if(A'<=y&&y<="F'}{
y=y-'A'+10;
X=16*X+y;
}
if(n==1&&y=="X"){
v=1;
}
if(v==0&&'0'<=y&&y<="9"){
y=y-0',
X=10*x+y;
}
y=scil_getbyte();
}
if(m==1) x=-x;
return x;
}
I* */
/* SEND BYTE TO SCI1 */
I* */

void scil_putbyte(char ¢)
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unsigned char tmp;
do{

tmp = SCI1.SSR.BYTE;
} while((tmp & 0x80)==0);

SCI1.TDR =¢;
SCI1.SSR.BIT.TDRE =0;
return;
}
I* */
/* SCI1 CARRIGE RETURN LINE FEED*/
I* */
void scil_rtif()
{
scil_putbyte(0x0d);
scil_putbyte(Ox0a);
return;
}
I* */
/* SCI1 CARRIGE RETURN */
I* */
void scil_rt()
{
scil_putbyte(0x0d);
return;
}
static unsigned char hex[] = "0123456789ABCDEF";
I* */
/* SEND 1 BYTE TO SCI1 */
I* */
void scil_putByte(unsigned char c)
{
scil_putbyte(hex[(c>>4)&0x0f]);
scil_putbyte(hex[c&0xO0f]);
}
I* */
/* SEND WORD(2 BYTE) TO SCI1 */
I* */

void scil_putWord(unsigned short int c)

{
scil_putByte(c>>8);
scil_putByte(c);

}
I* */
/* SEND INTEGER TO SCI1 */
I* */
void scil_putlnt(int i){
if(i<0){
scil putbyte('-");
i=-i
}
else{

scil_putbyte(' );
24



}
scil_putWord((unsigned short int)i);

}
I* */
/* SEND DECIMAL INTEGER TO SCI1 */
I* */
void scil_putDec(unsigned int i){
intd;
for(d=10000;d!=0;d/=10){
scil_putbyte((i/d)+'0";
i=i%d;
}
}
I* */
/* SEND DECIMAL INTEGER TO SCI1 */
I* */
void scil_putDecInt(int i){
if(i<0){
scil_putbyte(*-);
i=-i
}
else{
scil putbyte('");
}
scil_putDec((unsigned short int)i);
}
I* */
/* SEND STRING TO SCI1 */
I* */
void scil_putString(char *str)
{
while(*str){
scil_putbyte(*str);
str++;
}
}
I* */
/* DA INITIALIZATION */
I* */

void da_init()}{
DA.CR.BYTE | = 0x40;

}
I* */
I* DA CONVERT */
I* */
void da(unsigned char ch, unsigned char data){
if(ch==0)
DA.DRO = data;
else if(ch==1)
DA.DR1 = data;
}

* */




[* AD CONVERT */

I* */

unsigned int ad(unsigned char ch){
unsigned int tmp;

AD.CSR.BYTE=ch;  /* (ch) */
AD.CSR.BIT.ADST = 1; /* start */

while(AD.CSR.BIT.ADF == 0); /* AD *
AD.CSR.BIT.ADF = 0;

tmp = (int)(*((volatile unsigned char *)(&AD.DRA)+ch*2 )<<2)
+ (int)(*((volatile unsigned char *)(&AD.DRA)+ch*2+1)>>6);

return tmp;
}
I* */
/* LED INITIALIZATION */
I* */

/**********************************************************

LED 0:P5-0
LED 1:P5-1
**********************************************************/
void led_init(){

P5DDR |= 0x3;

P5.DDR |= P5DDR;

[*P5.DDR |= 0x3;*/

}
I* */
[* LET LED ON */
I* */
void led_on(int rl){
if(rl==0){
P5.DR.BYTE |=1; /* right on */
}
if(rl==1){
P5.DR.BYTE |= 2; /* left on */
}
}
I* */
[* LET LED OFF */
I* */
void led_off(int rl){
if(rlI==0){
P5.DR.BYTE &= Oxfe; /* right off */
}
if(rl==1){
P5.DR.BYTE &= 0xfd; /* left off */
}
}
I* */
[* PUSH SW INITIALIZATION */
I* */
/********-k*******-k***************-k-k*******-k****************
SO P4-4
S1 P4-5
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S2 P4-6
S3 P4-7

**********************************************************/

void pushsw_init(void)

{
PADDR &= Oxf; /*P4-4,5,6,7 */
P4.DDR=P4DDR,;
P4.PCR.BIT.B4 = 1; [*P4-4 */
P4.PCR.BIT.B5 = 1; /*P4-5 */
P4.PCR.BIT.B6 = 1; /*P4-6 */
P4.PCR.BIT.B7 = 1; /*P4-7 */
}
I* */
I* GET PUSH SW */
I* */
int getpushsw(int number)
[*push sw 0,1,2,3 number:0,1,2,0r 3*/
I* 1 0 */
[*number  0,1,2,3 -1 */
{
int tmp,ret=1;
tmp=P4.DR.BYTE;
switch (number) {
case O:
if (tmp&0x10) ret=0;
break;
case 1:
if (tmp&0x20) ret=0;
break;
case 2:
if (tmp&0x40) ret=0;
break;
case 3:
if (tmp&0x80) ret=0;
break;
default:
ret=-1,
break;
}
return ret;
}
I* */
/* PUSH 8 BIT SW INITIALIZATION */
1* */
void eightbitsw_init(void)
{
P2.DDR = 0x00;/*8bitSW */
P2.PCR.BYTE = Oxff;/*8bitSW */
}
int geteightbitswO(void)
[*8bitsw */
{ return P2.DR.BYTE;
}
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int geteightbitsw(int number)
/*8bitsw 0,1,2,3,4,5,6,7

/*ON 1 0 */
number 0,1,2,3,4,5,6,7 -1
{

int tmp,ret=1;

tmp=P2.DR.BYTE;
switch (number) {

case O:
if (tmp&0x1) ret=0;
break;

case 1.
if (tmp&0x2) ret=0;
break;

case 2.
if (tmp&0x4) ret=0;
break;

case 3:
if (tmp&0x8) ret=0;
break;

case 4.
if (tmp&0x10) ret=0;
break;

case 5:
if (tmp&0x20) ret=0;
break;

case 6:
if (tmp&0x40) ret=0;
break;

case 7:
if (tmp&0x80) ret=0;
break;

default:
ret=-1;
break;

}

return ret;

}

* */
* TIMER INITIALIZATION */
* */

number:0,1,2,3,4,5,6,or 7*/

*/

void timer_init(unsigned int period)/*period [msec]*/

{
FITUTMDR.BYTE = 0;*/ I*

ITUO.TCR.BYTE = Oxc3; [*
ITUO.TIOR.BYTE = Oxb8; /*
ITUO.GRB = 2000-1, I*

ITULTCR.BYTE = Oxb7; /*

ITULTIOR.BYTE = Ox8a; /*

ITUL.GRA = period-1; 1*

ITULTIER.BYTE = 0xf9; /*
}

CHO GRB
CHO GRB

x| [*
1/8

CHO ((16/8)MHz)/1000Hz=2000 */

CH1 GRA
CH1 GRA
CH1 1000 = 1SEC */
CH1 GRA

void timer_init3(unsigned int period)/*period [ sec]*/

28
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/*ITU.TMDR.BYTE = 0;*/ I | [
ITUO.TCR.BYTE = Oxc3; /* CHO GRB 1/8 */
ITUO.TIOR.BYTE = 0xb8; /* CHO GRB
ITUO.GRB = 2-1; I* CHO ((16/8)MHz)/1000kHz=2 */
ITULTCR.BYTE = Oxb7; /* CH1 GRA TCLKD
ITULTIOR.BYTE = 0x8a; /* CH1 GRA *
ITUL.GRA = period-1; I* CH1 1000 = 1mSEC */
ITULTIER.BYTE = Oxf9; /* CH1 GRA */

}

I */

/* PORT 1 INITIALIZATION */

I */

void pl_init(){
P1.DDR |= Oxff;

*/

*/

*/

}
I* */
[* TIMER START */
I* */
void timer_start(){
ITUTSTR.BYTE |= 0x03; I* 0 1 */
}
I* */
/* H8 INNER COUNTER INITIALIZE AND CLEAR*/
I* */
void h8counter_init(void)
/*1TU chanel2 */
ITUTMDR.BYTE |= 0x40; /*MDF->1 ITU2:counter mode*/
ITUTSTR.BIT.STR2=1;
ITU2.TCNT=0;
}
I* */
/* READ H8 INNER COUNTER*/
* */
int geth8counter(void)
{
return ITU2. TCNT;
}
pwm3cntl.h
/-k
ITU Ch3 PWM
TIOCA3(PWM ) PB-0(PortB-bit0) Conecter CH1-16
P4-bit0
P4-bitl

*/

void initPWM3(int gra_value)
[*1TU3 channel*/
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P4DDR |= 0x03; 1*P4 Obit, 1bit

P4.DDR = PADDR,;

ITUS.TCR.BYTE = OxAS;

* 10100011
GRA

ITU3.GRA = gra value; /*GRA */

ITU3.GRB = 0; /*GRB */

*GRB/GRA */

I*¢@ 16MHz(CPU clock) ¢ /8=2MHz*/

[*GRA 0x1000=4096 o1l 2MHz
*GRA 0x800=2048 ¢1 2MHz
ITUTMDR.BIT.PWM3 =1,
1*1 3 PWM
TIOCA3 ( B bit0) PWM
ITUTSTR.BIT.STR3 = 1;
I* 3
*/
}
void outPWM3(int value)
/* value : -gra_value...gra_value */
[*1TU3 channel*/
{
P4.DR.BIT.B1 =1; /* off*/
if (O<value) {
P4.DR.BIT.BO = 1;
ITU3.GRB = value;
}else {
P4.DR.BIT.BO = 0;
ITU3.GRB = -value;
}
}
void outPWM3_break(int onoff)
[*1:0N 0:0OFF*/
I* */
{
if (onoff) {
P4.DR.BIT.B1 =0; /* on*/
ITU3.GRB =0;
}else {
P4.DR.BIT.B1 =1; /* off*/
}
}

*/

*/

@ /8
*/

1/488.28125
488.28125Hz */
1/976.5625
976.5625Hz */
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rsw_p4b2.h
[*#include<3048f.h>*/

void rsw_init(void)

{
P4DDR &= 0xfb; /*P4-2 */
P4.DDR = P4DDR;
P4.PCR.BYTE |= 0x04; /*P4-2 */
}
int rsw(void)
I* sw */
I* 1 0 */
{ -
int tmp,ret=0;

tmp=P4.DR.BYTE;
if (tmp&0x04) ret=1;
return ret;

led12_p5b2.h

/*********'k************************************************

12V_LED :P5-2

**********************************************************/

void led12_init()

{
P5DDR |= 0x4;
P5.DDR=P5DDR;
}
I* */
[* LET LED ON */
I* */
void led12_on(void)
{
P5.DR.BYTE |=4; /[*on */
}
I* */
[* LET LED OFF */
I* */
void led12_off(void)
{
P5.DR.BYTE &= 0xfb; /* off */
}

H8-00.h
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12 SW
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LED

XXXX.mot

ROM

flash.exe
3048.inf
addpath.bat
h8cc.bat

LED.c
#include <3048f.h>

main()

{
P5.DDR = 0x3; /*LED INITIALIZATION*/

P5.DR.BYTE |= 1; /* right on */
P5.DR.BYTE |= 2; /* left on */

C

(XXXX.sub)

(xxxx.mot)
(XXXX.c)

head of list
OUTPUT ¥
PRINT ¥
INPUT ¥myresetv, ¥
LIB ¥c38hab
START P,C,D(200),B(0FEF10)
EXIT

end of list
C LED.c

head of list
OUTPUT LED
PRINT LED

INPUT c:¥Progra~1¥h8¥myresetv, LED
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LIB c: ¥Progra~1¥h8¥c¥c38hab
START P,C,D(200),B(0OFEF10)

EXIT
end of list
LED.sub
DOS DOS Window
DOS Window
>cd
addh8path.bat DOS
>addh8path
addh8path.bat
head of list
path=%path%;c:¥Progra~1¥h8¥c
end of list
h8cc.bat
XXXX.mot
>h8cc
LED >h8cc LED
LED.mot
H8CC.BAT
head of list
rem cc38h path

echo off

if exist %1.obj del %1.0bj

cc38h -include=c:¥Progra~1¥h8¥c %1
if not exist %1.obj goto ATERM

if exist %1.abs del %1.abs
if exist %1.0bj 138h -subcommand=%1.sub
if not exist %1.abs goto ATERM

if exist %1.abs c38h %1.abs
goto TERM

:ATERM

echo *kkhkhkkkk

‘TERM

echo on

end of list

ROM
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LEDx

O O

[ § |
[ R
+
l | !
4-1
XXXX.mot
RAM RAM
12v
4-1 A
4-1 B
ON
flash.exe 4-2
Eih
T 2aBIR
75 vy aAEY Ty SERT 7L
94b?@hﬁﬁﬂ5 |@
-F— MaEiR
&T—kE—F
o S i Rl o
ENTER
T—FE-FRE
T E-FICETEL, Uy FAE—RLTTFEL,
ot
4-3
OK 4-4
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Exh
EZAHFETO S S LEpAT
100 %

4-5
Write
Write IV F

FrAILE | \ 203

%887 LA (00000000 -]

BT7ELA [O00IFFFF 5]

ST —

4-6

C:¥XX...¥sample.mot OK
iz

21— IO YT LEREE

63 %

4-7
OFF
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